\PROPERT&ES OF P ExDONGNTj [

Slem(@m)_@ﬂﬂg_zs_»PELw,_Mﬂ—

(mmihmu (2\%0&0

Evmd nf- 2. Con be. empve/sdeo(, as

" f__nE p 9‘7-._.__ od“ DRPRRSs! b
A Wi R R TR

; P, P, P v - inbind primes, d,,dy. .. d, em*_.
= '™ c’mm_wlg,ﬂz.i_{ﬁ;mm,ow Prume.

e d_q_hm oo U!lwwl'g@m _\,Qp'. % ——‘-;IN aA =

7 B

—— _ f,J | L
o s Ta e

i oUnmw»se

_1/1,0, WWJM@Q%A@M be. ULNLH'ML aA

vx:(—l)'r"P 'ng WWJML

e . g

J\ML DWD&NtLQA tA \% one Cpmem. below :

() Wp(n\— l}w alosgt_ o8 pe P

3\, (ﬁrm) = Ul + %(»)y ¥V peP

(3) Yplmtn) 2 min §Vp(m) V()j , ¥ peP & mrn F#o

() Vo (n)=0 ¥ peP & k=il n=F|

(5) mln (ov v a oudkiple of m) < \QPCMW\%(“) VeeP.

() m=tn & Y(m) _.__\?an) ¥ peP (m&n ave assoualn)

dnllmuwﬁ PYU‘PQN",LMT_ (l) ¥dE X o(.<ao

Biesibednaet ot iy o + = & (iv) b +ol = e V¥ A<D

™o elovent () vnduded U Z WMM&E&

Pxﬂmc[%(. ﬁd Z M_

Nole ’Urwl wik —hAJ._o

| Tt 20 whaa, & uil




L‘a‘f&,

e dﬂwu.hm o Yp cam be eolinded to Qoas | = |
\J’GUD‘WS__}_ E\(‘Pﬂla xE Q Caw b?. YEPV%OALTLCHJ aA 'ZL"

| Q bec Z . d.u!:L\fL,_O, Vps@o np) | 3 pn e &
o U \2 ﬁQ;—LZ ¢ e
1-— a W_( WPCB) B
M b{gﬂ.mnwm Nk gty vl |
AlS L'l \? B Wwelk Mxmd-______. T g ®wGasyolal |

(@) I@ ae @, bew  x= () Eﬁ‘ﬁp_ ;
_.a R PelP |
UHIU-’JLGQ wnd 1€ 7 & U‘p(ﬂcm Vel

() T xe 2", o xis Do u™ pover in Q & th'l?(*)
VP

55 Bawer (Gou): T Yo @ sbar
% + (]_‘LJL *ATLE'I_"_"“ v«- =0

M\M Qy, Q3 03... & eszwl Uﬂm\écz

Pl We will chack  \%(y) 2o _?YL__?_Q_TP
[ul o( Boly) . _ un

- A n\ﬂp(lj) = B G 5 __
R ; = \?P(— lj. -i:ottt} )
S AT _-a‘__a_),__m_-am-.wp(%)ﬁj
WW\% \9?(0.5 \9‘9(&)1-\99(5) R
— =k 2w S.(n—nat (- ), S

= 0(70 %LPCP ¥
[ewihm CM,L___MJLL G ® =5 % b ewn YeeP




L5]3
 Giealnab Guumon Diviser (GCD): ket M be o mowoid
abeM  An  eomenk  deM i calkod ged-
@ T dla todlb
| by T Cla t c|b = c[d _ .
ik s {mfmvlm u_pbo o oaild w M

LA B

53 Thoovem . Lo M be a

@y Mo oo Jukevial

(b E\M& QE__!L&“__LL_]MM-_ Gi-_wwdwc&b(.e, elomaondr

amd._gnLaf_amﬁ_E_o_wb% eloments enishs .
| T (Peofia givew Jaley

Pmpe:vb\'u o GCD-
(1) cg,(ci (a,0) = a
@ alb & ged(a,b) =a |
(3 ged(ged(ab), ) = ged(a, ged(be) (asdouakive)
@ ged (ca, ) = C ged (a,b) ( dinkyihubive)

T ek Jollows. we  assume the  exislime of gcd

51 lommon:  hle abeM  thun | .
“ged (ak)=l and albc = alc. '
o Pwof: a = gcd (a,be) = ged (bea) .

— - ged Loed (o), 0} = ged (cay =
| o -Q,%LIL.(_C_,Q;—'__? ale




Lsle

Cmuliama T gcd(ab) ewals ¥ abeM then |
__E’_ve!wa_h'\fedmm elomank s pyowme
Pmoj- ok pobe an tweduohle  elemenk ¢ M
o To proe  plbe = plb ev Pl

~p=Ged (b, p). =  Ged (b,p) =P » Gad (op)= P_

_because: T ged (h,p)=\ e PXb  fhen by
hemma, 5 pl| G ) RRCTUY.. VY, N S N

_ Pof o Twowm 53: Sine exnlowe of ged
-._-_-..fm{liiea ol eveny weduuhle  eloments sl pvome |

M beewmwr o Jadkovial  mewotd.
Division Algovitho, & Exclidean Algovthm Leofl

Oivison_algorcthor v findivg gd Lk ab€ 2,
Thon Jcajﬂ;&%y ‘Q.XJAiA__Um%L &LV\E—Z'SEJVS s such
Falk a=0b+y  wkh o5y < (bl

|

Profi We oy omume byo, azo. We pwe e
i G0, Q=2Y=0

~ Td ypokhwsis s bae dov etk a<n,

then. & when  &==po=n o -b <n.

 Thuedot,  Gthen huypobhesis  a-b = Gbiv §eZ

4-bz by =  a-(Gnbty @:ﬁh e g

To pe wipusn, [ 8 slghadinpqieeyild |
. =) 6= (433 + (v-v)

— =G93 - . ‘
 Buk vev <lll 9 g4 gad vy ) o



